RERE-AIVITRERRISOVTHEER A

eSS L
185
100Bq/kgZ B2 53 DO
BREHKE

No BT REH HEDIELE trL-134 tr5 L-137 AEE

Bqg. kg Ba. kg Ba kg
1 A+ h R5.11.8 4K BRHE9(<85) BREET(<7.4) BRHEET
2 Hifth R5.11.8 =SS! BRHE9(<8.5) BRHEE9(<7.3) BRHEEY
3 H¥fHh R5.11.8 =SS! BRHEEY(<9.6) BRHEE9(<8.2) - danhcac
4 Bt R5.11.8 =Sy BREE9(<8.0) BRHE9(<8.2) BREed
5 H¥fHh R5.11.8 =SS! BRHEEY(<L7.6) BRHEE9(<L7.6) - danhcac
6 Bt R5.11.8 =Sy BRHET(<9.8) BRHE9(<5.9) BREed
7 BT R5.11.8 4R BRHEE9(<7.6) BRHEE9(<7.3) BT
8 Bt R5.11.8 =SS! BRHET(<9.5) BRHE9(<6.6) BRHEET
9 BT R5.11.8 4R BREE9(<9.0) B®RHEE9(<6.7) BT
10 Bt R5.11.8 =SS! BRHEET(<L7.9) BRHET(<L7.8) BRHEET
11 BT R5.11.8 4R BRHEE9(<9.8) BRHEE9(<8.4) - daskcac
12 Bt R5.11.8 =S| BRHEET(<L7.9) BRHE9(<6.1) BRHEET
13 WhEt R5.11.8 4R BRHEE9(<8.8) BRHEE9(<7.8) - daskcac
14 WhEh R5.11.8 =S| BRHET(<11) BRHET(L7.7) BRHEET
15 LWhEt R5.11.8 4R BREE9(<9.2) BRHEE9(<8.5) BrEed
16 WhE™ R5.11.8 =S| BRHEET(<L7.0) BRHET(<L7.8) BRHEET
17 LWhEt R5.11.8 4R BREE9(<9.5) BRHE9(<8.0) BrEed




BREHR

No BT REH REDIELE t 134 3 L-137 BEIE
Bg kg Bg kg Ba ke
18 LU R5.11.8 =S| BRHEY(<8.2) BRHET(L7.7) BRHEET

BRBEEEIZBT2—REROEEE £ 9L :100Ba/kg(E>H L-134, £ 9 L-13TDOEEE)




